
 %82 

53	.555.	:53	.384:532.5	.542.0	2.4.00	.24 
�.C. &�$�?��, +.&. 8����
�M�, 

=.>. @���)� 
����
����� ���
�������� ������ �������� 
������
� 

��� ����
������������������ 
&��$
���� ���������?���( ��� ?�������(�� 	
������ ��� ��������(� � ���
��� ������-

���� ����. '���$(�
9���( ���
��� ��������( � ��
9���� ������
��(� �
 ��� ������
��( 	
�-
�����. �
������ �������� �$( ����
	���( ���� ��
9����� ��� 	
�����
��. 

KINEMATIC FOR PARTICLE COLLISIONS OF BULCING MATHERIAL 
IN PNEUMOCONVEYING 

Velocity alignment for particle collisions are stated for two- dimensional case. Steal and non-
steal cases are considered. Criteria for determination type of collision are stated. 

 
&����� � ������?���� ����� �������(�� 	
���� �� � ���$� ���$�������( 

�
���
����
$�( � �(�� �
��� [%-3]. =��
�� �� ���$����
�
 ����$��
 � �	���� 
��
L���( � �����
$��B�
��( 	
����. |�$�) �
���* �
���B (�$(���( �B��� ��-
����?���*, �����B� ����� �B�� ����$����
�B �$( ���$����
��( �������( 
�-
�
��$( 	
���� � ��
���B�� ���$�������(��. 

8�������
�����������B* �B��	�* �
����
$ ������� �� 	
���� �
�$�	��* 
#���B � �
����
, �����B� � ������������ ��������� �U��$
 [4] �
���()��( 
�
����� U����
$����B� �#���	����� 	
���� ����
������ �
���
  a. '
�����-
��� �$����) �
�
	� ���$�������( ���� ��
L
)L���( 	
����. "������� �� 
������� �
��: �� ��
�
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%
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− ,  ���$� ��
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+  ,. ��$��B� �����-

��� ��
L���( (������ ������� �
��): �� ��
�
  ω
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%
−

  �  ω )(
2
−  , ���$� ��
�
  ω )(

%
+   

�  ω )(
2
+ . &����$������( ������B�� ��
�����(�� ���
���� ������B �����B� 

��$ ��� ��
��: ��
������� ����
����( ��$�	����
 �������( � ��
������� 
����
����( ������
 ��$�	����
 �������(. 8��������
�� ����$��
�� ���� ��$, 
����� ��
��B�. "������� ��	�� ����
��
, ����
�$��
L�� ������� � ������� 
?
�� ��� ��
�� � �����
$��B�
���� ����L� �����( ������
���B. \�� �
�$�	�� 
����� ����� ������ ��-�
 �����
$��B�
��( �����������* � ���� ����
��
, ��-
���$��� ������
���B �������� ��������* �
 �
�
��$���). =��
�� ����
$��B� 
���������B ��������* � ������ ������� ����
 �����* #
�B ����
���B �$( 
����� ��$ �
���(L���( � ����
���. D
��?�� ��
������ ����
����( ��$�	����
 
�������( � �������� �
 ����
$� � ����������(� ?
��� � ��	�� ����
��
. 

�
 �����
��� �������B ��)���
 �
���B�
�� ������?���( ����� ����
�-
��* � ���$���
���* ����
$��B�� ���������
�� ����$��
 [%] 

 

Sn
+  = R Sn

−        (%) 
 

���  R <%  - ��U##������ �����
���$���( ��� ��
��. 
	.	. �[@#_ J'hJ"$&+i ( >')?%hJ"$&+i )j'$')*%] >$( )*'?j&'[%&(( k")-

*(l ) >$')j"?_#+["&(%`. & �$�	
�, ����
 ��� ���$�������� 	
���� �������-
��� ��
� � �����
$��B�
����, ����$������( �������
 ������ �����( � �
����-
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����� ����� ����
$���*  Sn   � �
�
��$���*  Sτ  ����
�$()L��� ��$���� ��-
��$��
  S  ������
���( � �$���)L�� ���� [2, 3] 

 
S%τ = – S2τ  =  – f S n  sign V ?

�� ,          V ?
��  = V ?

−
τ%  – V ?

−
τ2            (2)  

 
���  S%τ , S2τ   - �
�
��$��
( ����
�$()L
( ��
����� ����$��
, ���$�����
( � 
������� � ������� ��$� ��������������,  V ?

��  = V ?
−

τ%  – V ?
−

τ2   - �������� ��
��-
���� �����
$��B�
��( ������� ��$
 ��������$����� ������� � ��	�� ����
��
 
(") ��� �� ���$��������, V ?

−
τ% , V ?

−
τ2  - �
�
��$��B� ����
�$()L�� ��������* � 

��	�� ����
��
 (?) �����(L���( � ��$� % � 2. & ������������ � #����$
�� ��-
���
���� �$������ �������( ��� �
���B�
)��( � ���� [5] 
 

 
 

'��. %± "���
 �$( �
�	��
 ����
����( ���� ����
���B� �#���	����� ��
L
)L���( 	
����; 
�����
��	����� � ��$��B� #
����B � ������ �� ���$�������( (�$���
( �
�
	
). 

 

V ?i
−

τ  = v-
iτ  -(-%)i �ωi

- .     (3) 
 

"���
��� ��
������ ��������( ��$�	����
 �������( i-* 	
����B � �����-
��� �
 �
�
��$���) (��� τ) 

 
m (v+

iτ – v-
iτ)  = Siτ  . 
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D
��?�� ������?���( ��
L���( �$( �
���* ����$���* 	
����B �
� ������-

�� ��$
 ������ ���  z  �
 ������ �
���
 ��������( ������	������ ������
 ��� 
��*����� ��
��B� ����$���� [%] 

�$( i-* 	
����B 
 

J i
zC

)(
%  (ω+

i – ω-
i) = 0 i

zC
)(
%

 ( iS )    (4) 

 

��� J zC
)%(
%

 = J zC
)2(
2

  =  Jz  = mi 2
z ;            m  = 

3

4
 πa3ρ2; m, ρ2  - �
��
 � �$������� 

	
����B;  �, Jz , i z = 
5

2
 �  - �
���� �#���	����* 	
����B, ������ ������� � 

�
���� ������� 	
����B ��������$��� ���  z,  ������(L�* 	���� �� ����� �
�� 
����
$��� � �$������� �������(;  0 zC

)%(
%

, 0 zC
)2(
2

  - ������ ��
��B� ��$ �$( ���-

��* � �����* 	
����B ��������$��� �� �����
$��B� ���*  ?%z, ?2z . <�$� �
�
-
��$��
( ����
�$()L
( ��
����� ����$��
 ��*����)L��� �
 �����) 	
�����  
S%τ > 0, �� ���$
��� ���. % ������ �� ��������$��� ���  ?% z : 0 zC

)%(
%

 (S%τ) = S%τ ⋅ � > 

0  - ��
L
�� ������ 	
����* ����$�� � ��$�����$��. 
����
$��
( ����
�$()L
( �������� 	���� ����� �
�� �  0 zC

)%(
%

 (S%n) = 0.  I
-

��� ���
��� ��
������ (4) � �	���� �B?�����	��$���B� ��$�	�� �
���B�
���( 
� ���� 

 

m ⋅ 
5

2
 a2 (ωi

+ – ωi
-) = -(-%)iSiτ   ⋅ �.   (5) 

�� ��
�����( (5) ��$�	
�� 
 

ωi
+ = ωi

- – 
a
f %

4

5
 (% + R) (v-

2n – v-
%n ). 

 
I
��� ���
���, ��$�	��B #����$B �B�
�
)L�� ���$���
��B� �������� 

	
���� 	���� ����
��B�. \�� #����$B �
�B�
)� #����$
�� �����$)	���( ��� 
����
����� 	
���� � �����
$��B�
����. 

@
��B� ��� #����$B �$( ����* �������
�B �� �$( �
��B� 	
���� � �$�	
� 
�����
$��B�
��( ��� ���$�������(� ����� �
���
�� � ���� ����* #����$B 
�$���)L�� ���
��� 

 
v+

i# = 
a8

2

%  {[(% – R) (#%– #2)
2 + f % (% + R) (#%– #2) (�% – �2) + 2 (�% – �2)

 2] v-
 i# + 

+ (% + R) [#%– #2 – f % (�% – �2) ] [(#%– #2) v-
 (3 – i) #+(�% – �2) (v-

 (3 – i) y – v-
iy)]}; (6) 
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v+
i� = 

a8
2

%  {[2 (#%– #2)
2 – f % (% + R) (#%– #2) (�% – �2) + (% – R) (�% – �2)

 2] v-
 i� + 

+ (% + R) [f %(#%– #2) +�% – �2] [(�% – �2) v-
 (3 - i) � + (#%– #2) (v-

 (3 - i) # – v-
i#)]}, 

 

��� i = %,2; f % = f sign {� (ω-
% + ω-

2) + 
a2

%
 [(�% – �2) (v-

%# – v-
2#) – (#%– #2) (v-

%� – v-
2�)]}. 

1����$B �$( ���$���
��B� ��$��B� ��������* 	
����, ������
���
��B� � 
�������
�
�  9#�. 

ω+
i = ω-

i  – Δ ω ; 
��� Δ ω =  

a8
2

5  f % (% + R)[ (#%– #2) (v-
2#– v-

%#) + (�% – �2) (v-
2�– v-

%�)]. 

	.2. �[@#_ J'hJ"$&+i ( >')?%hJ"$&+i )j'$')*%] >$( )*'?j&'[%&(( k")-
*(l a%# >$')j"?_#+["&(@. =�����B� �����
��	����� � ���
��	����� ��
���-
��( �$( �$�	
( ����
����( 	
���� ��� �����
$��B�
��( ���
)��( ���� ��, 	�� � 
��� �����
$��B�
���. @���� ��� ������?���*, �����B� ����B�
)� �����(��� 
� ��	�� ����
��
 �� �
��
�$���) �
�
��$���* � ����������(�. & �$�	
� � ���-
��
$��B�
���� �
��� ������?����� (�$(���( �
��������� �
�
��$���* �����-
����B ��
����� ����$��
 �� ����
$���* �� ��$���(� ������ �����(, 
 �$( 
���$�������( ���� 	
���� ��� �����
$��B�
��( U�� ����� �
������� ��$) ���-
����� �����
$��B�
��( ���$� ��
�
. 

D
��?�� ������B� ���
��	����� � �����
��	����� ������?���( ��� 
���$�������� 	
���� ��� �����
$��B�
��(. 8�����
�� �
��
�$���� �
�
��$�-
��* ����
�$()L�* ��
����� ����$��
, ��*����)L��� �
 �
���) 	
�����, �
-
��� ��, �
� �$( �$�	
( ���$��������( � �����
$��B�
����. 8�$�����$���� �
-
��
�$���� ��� ?τ �	��
�� �$��
 �
��
��. C� #����$B (22) �B���
��, 	�� ��� 
��$�����$���* �������� ���$�����( ��$ � ��	��  ? (V ?

��  > 0)  �
�
��$��
( ��-
��
�$()L
( ����$��
, ��*����)L��� �
 �����) 	
����� ����� �����
��$��
 
 
�
 �����)- ��$�����$��
 

 
S %τ  = – S τ,                 S 2τ  = S τ, 

 
��� S τ  =  ⏐S %τ ⏐  = ⏐ S 2τ   ⏐. 

��
�����( ��$�	����
 �������( � �������� �
 �
�
��$���)  ?τ  �$( �����* 
� �����* 	
����B � �	���� (9) �
���B�
���( � ���� 

 
m ( v+

iτ – v-
iτ ) = (–%)i S τ; 
 

�	��B�
(, 	�� 
S %n  =- S 2n  =  ⏐S % n⏐, 

 
�
���B�
�� ��
������ ��$�	����
 �������( �$( �����* 	
��� � �������� �
 
����
$�  ?n 
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m (v+
%n – v-

%n  ) = S n. 
 

��
$���	�� �
����� �$( �����* 	
����B 
 

m (v+
2n – v-

2n  ) = – S n. 
 

8�����
( �� ����
��� ��
��  S%τ, S2τ   � �	��B�
(, 	�� ��$�����$��B* ��-
���� ��
L
�� ������ 	
����* ����$��, �
���B�
�� ��
�����( ��
L���( 	
���� 
(32), (33) � ���� 

 
J (ω+

i – ω-
i) = – Sτ ⋅ a; 

 

���  J  = Jz  = 
5

2
 ma2; m, a  - ������ �������, �
��
 � �
���� �#���	����* 	
���-

�B. 
8�$�	�� ������?����, �	��B�
)L�� #���	����� ���*���
 ����
��
 � �
-

��
�$���� ����
$� ��� ����
����� ���� 	
����. C��$)	
( �� �B�
����* ��-
$�	��� 
n, �
���B�
�� 

 
v+

2n  – v+
%n   = – R  (v-

2n  – v-
%n ) ,    (7) 

 
���  R   - ��U##������ �����
���$���(. 1����$
 (7) ��(�B�
�� ��������$��B� 
����
$��B� �������� 	
���� �� � ���$� ��
�
. 

8�$�	�� #����$�, �	��B�
)L�) �����
���� ����
��
 � �
�
��$���� �
-
��
�$����. 8�� ����
����� ��� �����
$��B�
��( �������� ���$�����( �����* 
	
����B ��������$��� �����* ���$� ��
�
 �
��
 ��$) 

 
V ?

��  = 0.      (8) 
 

8����
�$(( � (8) #����$� (2) �$( ���$���
����� �����(��(, �
���B�
�� 
 

V ?
��   = V ?

+
τ%  – V ?

+
τ2  = 0.     (9) 

 
C���$���( � ������?���� (9) �B�
����( (3) �$( ���$���
����� �����(��(, 

��$�	
�� 
 

v+
2τ – v+

%τ  = � (ω+
% + ω-

2). 
 

\�� ��
������ (�$(���( �
�B�
)L�� �$( ������B �� ������ ��
�����*, ��-
����
L�� ������ ���������B�:  v+

%τ, v+
%n, v+

2τ, v+
2n, ω+

%, ω+
2, Sn , Sτ . D
*����( 

��?����� U��* ������B ��
�����*. 
8�� U��� �	��B�
��, 	�� �$( ��$�?��* �#���	����* 	
����B  J  = 2 ma2 / 5. 
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v+
ix = 

a8

%
2

{[
7

%2
(�%–�2)

2 +(%–R) (#%– #2)
 2] v-

ix +[
7

2
(�%– �2)

2  +(%+R) (#%– #2)
 2] v-

3-i,x  + 

+(
7

5
+R) (#%–#2) (�%–�2) (-v-

i� + v-
3-i,�)+

7

4 � 2 (�3-i – �i ) (ω-
% + ω-

2)}; (%0) 

v+
i� = 

a8

%
2

{[
7

%2
(#%–#2)

 2 +(%–R) (�%–�2)
2] v-

i�+[
7

2
(#%– #2)

 2  +(%+R) (�%–�2)
2]v-

3-i,�  + 

+(
7

5
+R) (#%–#2) (�%–�2) (–v-

i +v-
3-i,#) +

7

4
 � 2 (# –#3-i) (ω-

% + ω-
2)}; 

ω+
i = 

a28

5
2

[(�%–�2)(–v-
%#+v-

2#)
 +(#%–#2) (v-

%y–v-
2y)+2 � 2  (

5

9 ω-
i – ω -3-

 
i )];  i = %, 2, 

 
��� i - ����� 	
����B. 

8�����( ����� �.% ��
���, 	�� ��$�	��B #����$B, ��(�B�
)L�� � ��(��-
���$��B� ���������B� �������
�
� ���$���
��B� �������� �#���	����� 
��
L
)L���( 	
���� � ����
��B�� �������(�� �$( �$�	
�� ���$�������( � 
�����
$��B�
���� � ��� �����
$��B�
��(. !
$�� � ����
��B� ��������* ����-
��* ������ ����� ( - ) �����
���(, 
 ������ �$)� ( + ) � ���$���
��B� �����-
���* �
���(���( �
 ��$� (0), 	�� (�$(���( ���
�
��$�� �
	
$���* �������� �$( 
	
����B ���$� ���$�������(. @���� ����, �����$��� � ��L�� �$�	
� �
���
�-
���
���( �������� n 	
����, 
 �� ����, �� ������B «%» � «2» �
���()��( �
 «i» 
� «j» �������������� �
�, 	��  i, j = %, 2,..., n; ��� U���  i ≠ j. I
��� ���
��� 
#����$B �$( ���$���
��B� ��������* � #������ �� ����
��B�, �
�B�
��B� 
�
��� #����$
�� �����$)	���(, ������
)� �$���)L�* ���. 

!$( ����
����( i -�* � j - �* 	
����B ��� �����
$��B�
���: 
 

v 0ix = {[(%–R)Δ # 2  /2+Δ� 2 +(% +R) f % Δ# Δ � / 2] v ix + 
+( % + R ) (Δ # – f % Δ �) (Δ # v jx  – Δ � Δ v �)/ 2} / 4 a 2;  (%%) 

v 0i�  = {[(%–R)Δ� 2  /2+Δ # 2–(%+ R )  f % Δ # Δ � /  2] v i� + 
+( % + R ) (Δ � + f % Δ #) (Δ � v j�  – Δ # Δ v x ) / 2} / 4 a 2; 

ωi
0 =  ωi  + Δ ω;   ωj

0 =  ωj  + Δ ω, ��� Δ ω = 5 f % ( % + R ) (Δ # Δ v x + Δ � Δ v �)/ 8 a 2; 
Δ � = �i    – � j; Δ � = �i    – �; Δ v x = v ix – v  jx ; Δ v � = v i�- v  j� ; 

f %  = f sign [(ωi + ωj )  a + v iτ – v jτ ]; v iτ   – v jτ   = ( –Δ # Δ v � + Δ � Δ v#)/ 2 a 
 

� �$( ����
����( i - �* � j - �* 	
����B ��� �����
$��B�
��(: 
 
v 0ix ={ [ 6  Δ � 2  / 7 +(% – R ) Δ # 2 /  2] v ix+[Δ � 2 / 7 + ( % + R ) Δ #2 / 2 ] v j# – 

– ( 5 / 7 + R ) Δ # Δ � Δ v � / 2 – 2 a 2 Δ � (ωi + ωj ) / 7 }/ 4 a 2;  (%2) 
v 0i� ={ [( 6  Δ # 2  / 7 + ( % – R ) Δ � 2 /  2] v i� + [Δ # 2 / 7 + ( % + R ) Δ �2 / 2 ] v j�– 

– ( 5 / 7 + R ) Δ # Δ � Δ v # / 2 + 2 a 2 Δ # (ωi + ωj ) / 7 }/ 4 a 2; 
ωi 

0 = 5 [– Δ �  Δ v # + Δ # Δ v � + 2 a 2  ( 9 ωi / 5 – ωj ) ] / 28 a 2; 
ωj 

0 = 5 [– Δ �  Δ v # + Δ # Δ v � + 2 a 2  ( 9 ωj / 5 – ωi ) ] / 28 a 2, 
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��� i, j,  = %, 2, ..., n (i ≠  j); n - 	��$� 	
����. 
8�� ���$�������� 	
����B � �����* �$� ������* ������*, ����
 �B��$�(-

���( ��$���� 
 

� = �,            � = 6 – a 
 

���������� ���������� ��������� ����
�$()L�� $���*��* � ��$���* �������� 
	
����B. "���
�$()L�� ���������* �������� �����
 �
�� �� ��
�
 �����
	�� 
�������� « - », 
 ���$� ��
�
 �������� « + ». "���
�$()L
( �������� 	
����B, 
����
$��
( � ������ ������$(���( �� �
���� 
 

v�
+

= – Rv�
−

,      (%3) 
 

��� R – ��U##������ �����
���$���( ����
$���* ���������B �������� ��� 
��
��. 

8� ������� �� ��������� ��$�	����
 �������( ��� ��
�� �$( ��������� 
���$� ���  9�  ������$(�� ����$��, ��*����)L�* ���$� ���  9� 

 
Sy = – m (%+ R) v�

− . 

 
!$( ������$���( v�

+  � ω+ �
���
����
�� 	
����� �
� ?
� �
����
 �, ��
-

�()L�*�( � ������. C���$���( ������� �� ��������� ��$�	����
 �������( �$( 
��������� ���$� ��� 9#  � ������� �� ��������� ������
 ��$�	����
 �����-
��( ��������$��� �����
 �
�� (��	�� ") ��� �	��� ����$���� ��$��� ��
��B� 
��$ �
���B�
�� 

 

v#
+
 – v#

−
 = 

m
S # ,           ω+ – ω- =  

J
aS

C
z

#
)(
 sign yv−

,   (%4) 

 
���  J C

z
)(  = 0,4 ma2  - ������ ������� ?
�
 ��������$��� ���  ?z,  ������(L�* 

	���� ��� �����,  Sx -  ��$�	��
 �
�
��$����� ��
����� ����$��
 � ��	�� ����
�-
�
 ?
�
 � �����* �$� ������* ������*. D�
� ������
 ����$��
 � ��	�� ����
�-

�
 � ��$������ ��	�� ����
��
 �
 ?
�� ������$(���( ��
	�����  sign yv−

: sign yv−

 

< 0  ������������� �����* ��	��,  sign yv−

> 0  – ������*. 
8�� ���$�������� 	
����B �� ������* ��� �����
$��B�
��( �
�
��$��
( 

���������* �������� � ��	�� ����
��
 �
 	
����� ����� ��
��� 
 

xV −

 = xv−
 – �ω- sign yv−

 ≠ 0 
 

���$� ��
�
 ���
L
���( � ��$� 
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xV +
 = xv+

 – �ω+ sign yv−

 = 0. 
 

C� (%4) � �	����  xV +
 =  0  ��$�	
�� 

 

ω+ = (ω+2,5vx
−
signv�

−

/�)/3,  vx
+
=�ω+  signv�

−

  Sx = m(�ω- sign v�
−

–vx
−
)/3,5 (%5) 

 
"�����?���( (%4), (%5) ������$()� �������� 	
���� ��� ��
�� ��� ���-

��
$��B�
��(. 
8�� ���$�������� 	
����B �� ������* � �����
$��B�
���� ������$
�
��, 

	�� �
�
��$��B* ����$�� �� ������B ������ ��(�
� � ����
$��B� ����$���� 
�
����� @�$��
 

 

Sx  = – f⏐ Sy ⏐ sign xV −
 

 
���  f – ��U##������ ������ �����( ���$�����( 	
����B � ������. 

C���$��  Sx   ����� ��$�	��� 

Sx  = – fm (%+R)⏐ v �
−

⏐ sign xV −
. 

 
=����$(�� �������� �����
 �
�� � ��$���) �������� 
 

xv+
 = xv−

 – Δv ;  ω + = ω- + 2,5 Δv/� Δv = f(%+R) xv−
sign (vx

−
 – aω- sign yv−

). 
 

& ������������ � �
����� @�$��
 �$( ������ �����( ��� ���������� 
�����
$��B�
��( ��$
 (�$� ����$��), ��*����)L
( �
 	
����� �� ������B 
������ �
���$����
 ������ �����
 �����(. 8�� U��� ��$���� 
�������
$��B�
��( �
���B�
���( � ���� 

 

tg δ = 
S
S

y

#  ≤ f  = tg ρf 

 
���  ρf  - ���$ �����(. 

\�� �
M� �������* ��L������
��( ��
�
 ��� �����
$��B�
��( 
 

sign

(% R)
x y

y

v v
v

− −−

−

−ω
+

 < 3,5 f . 
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� ��
��� �
������ �
�$���� 
�
$���	��� ���$������, L� �� ���’(�
�� �� ������) ��’(��� � 
	
�� �
 �������� �����$���	��� �������� ���������( ������� �
��� � �
���
�� �� �������� �� 
�
������� �����
�� ����$$( �
 �
��. 

����
$ ��
��� �
��9���( �
 �
*��$�? �#�������� �
 
��?������ �
 ?
��
� !���
�� ������� �������� �� �
������� �����
�� – �
����
��( ���� � 
�$
�� � ������ ��������$���(. 

THE ANALYSIS OF BASIC MINE TECHNICAL FACTORS INFLUENCE 
ON AVERAGE RATES OF TUNNELS REALIZATION ON EMISSION 

DANGEROUS LAYERS. 
In clause the results of analytical researches connected to estimation of coordination in time and 

space of technological processes of tunnels realization with ways on struggle with sudden emissions 
coal and gas are given. The material of clause is based on most effective and widespread on mines 
of Donbass a way of struggle with sudden emissions - water forcing in layer in mode of hydroloos-
ening 

 
8�� ���������� �����������$��B� �B�
����� �� �B�������
��B� �$
��
� 

�
	
���) �	��� ������ �
�
��� ������������� �
��) �
���
����� �
��	��, ��-
���
( ������	�$
 �B �
 ����(����� ����� �$
��������� ���(�
 �����(��B* 
#���� �
��� � ���$)	�$
 �B ������� �
��( [%]. & ������ ���������( ����-
���(��* �� �������������) ����
��B� �B������ ��$( � �
�
 �� �����
 ������( 
��
���( ������	��� ����
��, �
���
)L�) � �
���� �
���, #������ �
���. & 
����������� U�� �
�������� ��� �
���� ����������* ����
�B � ����$����
��� 
������	����� ����
*���, �
� �
� ��� U��� ���$�	��
���( �������� ������
��( 
�
��( � 	
����
 ������
����� ����
�B ��-�
 ������������� �B��$����( �����-

$��B� �������(��*. 

& U��* ��(�� ������ ��(��� �� ������� � ������
����� �����$���	����� 
��������� �� ���������) �B�
����� � �������(��(�� �� �������������) 
����
��B� �B������ [2] ��$( � �
�
 � ��������B� ����������	����� ��$���(� 
����� ��$�?�� ��
���	����� ��
	����. 

���� ��������B ����$��
�B 
�
$���	����� ���$����
��* �$�(��( �����-
�B� #
������ �
 ����B ���������( �B�
����� � ���L����$����� �
���$�� U#-
#��������� � �
�������
������� �
 ?
��
� !���
��
 ������
 �������������( 
����
��B� �B������ ��$( � �
�
 – �
����
��( ���B � �$
�� � ������ ������B�-
$���(. 


